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Economics II   Macroeconomics (EFA) Resit-Exam
Wednesday, 1 September 2010    (60 min.)
Please note: 

· At first please check the exam paper: are there 7 pages / all well readable?

· Please only work in the exam paper; use the boxes for your answers. Do not use own paper!  

· Your calculations should be shown. The complete solution method must be traceable! 

· You can achieve 60 points – in 60 minutes! => one minute is approximately worth one point; please consider the indicated scores.  The tasks are formulated that way that usually short answers are required. Therefore do not spend too much time with "inferior" tasks!  
NEW!: To obtain a 100% marks you have to gather 60 points. There are four tasks worth 20 points each   you have to answer only 3 of the four tasks!
                                            Important: Only 3 tasks will be marked ! 
In case you worked at more than 3 tasks it is necessary that you clearly show which 3 tasks are to be counted (= check below). If you don’t indicate which tasks to mark, only the first three will be counted. 
· Permitted are:  pens, ruler, calculator (without word processing function), English language dictionary. 
· Please do not use a pencil (except in diagrams) or red pens.
· Mobile phones have to be switched off!
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Task 1 IS/LM Equilibrium on Goods- and Money market
[20 points]
In an economy the following equations and variables are given: 

	Goods market:
	Money market

	C = 900 + 0,9 * Yd
	M = 1000

	I = 200 / i
	LT = 0,1 * Y

	
	LS = 300 / i


1.1 Provide a definition of the LM curve and briefly describe the concept of the IS/LM model. [3 points]
The LM curve is the geometric location of all combinations of the real interest rate i and the real income Y. The IS/LM model describes the simultaneous equilibrium on goods (capital) and money market. 

1.2 Show the equilibrium conditions for both markets. Compute the values of Y and i that lead to an equilibrium on both markets. 
[8 points]
	Equilibrium on the good
s market
Y = C + I = Caut + C‘ * Y + I
   = 5 000 + 0,9 Y + 200 / i
0,1 Y = 500 + 200 / i 
  Y = 9 000 + 2 000 / i 
	Equilibrium on the money market

 M   = TT + LS
1000 = 0,1 Y + 300 / i
0,1 Y = 1000 - 300 / i
Y = 10 000 – 3 000 / i 

	Simultaneous equilibrium:

9 000 + 2 000 / i = 10 000 – 3 000 / i
(  5 000 /  i = 1 000
(  i* = 5     equilibrium interest rate
	Apply to one of the Y equations: 
Y * = 9 000 + 2 000 / 5
(  Y * = 9 400


1.3 What are the amounts of Savings S, Investment I, LT and LS?
[4 points]
S = - Caut + (1-C‘) * Y

I = 200 / i = 200 / 1
LT = 0,1 Y = 0,1 * 9 400 = 940
   = -900 +  0.1 * 9 400
I = 40

1.4 Construct a diagram of the IS/LM model showing both curves and the equilibrium. 
[5 points]
[Attention: these are non-linear functions. The easiest way might be so calculate Y for some possible i values (i.e. 1,2 and 3)]
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	

	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	

	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	

	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	

	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	

	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	

	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	

	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	

	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	

	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	

	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	

	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	



Task 2 The economy of Brenemark faces the following consumption function: 
                                         C = 2000 + 0.75 Y 
 (20 points)
The does not have any foreign trade at present, investment and government spending are constant at  I + G = 500.  (You may also call this injections)
2.1 Explain the concept of the consumption function (in your own words). Who invented this model (names of author and model)? Can it be verified empirically?
 (5 P)
2.2 Complete the following table:    
(4 P)
	Income 
	0
	500
	2000
	4000
	6000
	8000
	10000
	12000
	14000
	16000

	Consumption
	
	
	
	
	
	
	
	
	
	

	AD
	
	
	
	
	
	
	
	
	
	


2.3 Calculate the equilibrium level of income. 
 (4 P)
2.4 The Government increases its spending by G = 500
 (4 P)
Calculate the new equilibrium. You will find, that Y is significantly larger than G. Explain this effect – what is its economic name? 
2.5 Plot the consumption function, I+G (original values) and aggregate demand on the 45° diagram below. Clearly identify the equilibrium level of income. 
[Make sure you can show both equilibria – and don’t forget to properly label the axes]
 (3 P)
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	

	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	

	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	

	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	

	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	

	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	

	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	

	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	

	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	

	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	

	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	

	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	



Task 3 “The Roots of Macroeconomics” / Economic Schools
[20 points]
3.1 Describe the basic ideas of the theory founded by Adam Smith. Especially discuss the topics and the implications of free markets and the “invisible hand”, Say’s Law and the quantity theory of money.
[7 pt]
3.2 International Trade Theories: What are the differences between the concepts of 
Absolute vs. Comparative Advantages (authors ?)
[5 pt]
3.3 Describe the meaning of the “the importance of aggregate demand”, the multiplier process and the demand management using different policies. To which theory do these concepts belong (name of theory/founder). 
[8 pt]

Task 4 Economic Policy 
[20 points]
4.1 Fiscal and Monetary Policy: Briefly characterize both types of policy. Which institution is responsible for which type in Germany? Which one is more important today in Germany?
[5 pt]
4.2 ECB: Briefly describe the (historical) background; explain its tasks and esp. the instruments. 
[6 pt]
4.3 Describe and define M1, M2 and M3 (no literal definition but your description). Why are they defined like this (what do we want to measure)?
[4 pt]

M1 is currency and demand deposits; M2 adds savings accounts, small time deposits, and money market funds to M1.

M1 is labeled “transactions money” and reflects a good deal of transactions demand. The opportunity cost of holding M1 is the interest rate (or the difference between low rates paid on NOW accounts and higher rates that can be earned elsewhere). 

4.4 What is GDP and how can it measured empirically?
What is the difference between a domestic and a national income?
[5 pt]













Good Luck !
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